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KRIENKTSRQVTFSKRRNGLLKKAYELSVLCDAEVALIIFSPTGKLYEFS
EAAKLKKKIEKLQRSQRNLLGEDLDPLSIKELQQLEKQLERSLKRIRARK
MGRGKVZJ

RKKSFRKRKAGLLKKASELAILCGVEACVIIFGPDGTEETW
SSSMEKTJERYQKCS

TQLLLEQJEDLQRKERLLLEENAALKEKJ
IEAHRNARILELNQELTZILKQLEAEKKRGEELDQMRKANGSZYWWEAPI
FQNJPAMERSKKMVNQESYLKERIGKLNDQLRKQRKDNRELEMEDLMQQV
HKENLGKQHFMSLECHGQFQNGMHVPFRMGAEQQLPPJILWIPNNDSQHIM
GDSAGGNNFDPWLL
AAEMKLQKGPEDFNVGGSFEAPKPEYDSGPCGWASAPGSCAVTMFDDHLY
ENERKRQNMNLMPGGVEFEIMQPQPFDSRNYSQVNGLPPANHYPHDDQM
PVEHQQVLDQFPFCGEPSSVLQLSNISHQIDPYHLQLAQPSLQGSNV
AEAKFETWDDRLNYLPEESLRDLLKILERKLQVVDEKV
TFKKLDHDVNIPEFLGSSSQSIEDLTSQSRLLQNQLSDVHKRLSFWTNPD




